Lesson 2.2 ~ Trigonometric Ratios of Any Angle

Trigonometric Ratios for Angles Greater Than 90°
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Finding the Trigonometric Ratios of Any Angle 6, where 0° <6 < 360" (CAST Rule) .
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Example #1: The point P(-5, -12) lies on the terminal arm of an angle, 6, in standard
position. Determine the exact trigonometric ratios for sin 6, cos 6, and tan 6.
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Example #2: Determine the exact value of sin 240°.
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Example #3: Suppose 8 is an angle in standard position with terminal arm in
quadrant lll, and tan 6 = i Determine the exact values of sin 8 and cos 6.
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Example #4: Solve cos 6 = —%, 0" <08 <340,

cOoS 9':"'"!" - Qd___d_
3 iz ~p
\
g=1 ODS 1S (M i %Ua-d 1_‘_- t-i_-}:
g
v
6, = 1Bo-us =|135°

B, = \Bo+ 4s ={225°

Example #5: Determine the measure of 6, to the nearest degree, given
sin 8 = -0.8090, where 0" <8 <360°".
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